Simple Probability (HKMO Classified Questions by topics)
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There are 15 balls in a bag, of which 3 are red.
What is the probability of drawing a red ball ?
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One ball is taken at random from a bag containing 10 red balls and 10 white balls.
If x is the probability that the ball is white, find the value of x .
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One ball is taken at random from a bag containing 50 white balls and 100 red balls.
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If % is the probability that the ball is white, find the value of ¢ .
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A die is rolled. If the probability of getting a prime number is % ,

find the value of a .
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If a 31-day month is taken at random, find ¢, the probability that there are 5
Sundays in the month.
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A bag contains d balls of which x are black, x + 1 are red and x + 2 are white.

If the probability of drawing a black ball randomly from the bag is less than % ,
find the value of d .
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If P is an arbitrary point in the interior of the equilateral triangle ABC, find the
probability that the area of AABP is greater than each of the areas of AACP and
ABCP .
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A box contains only x-one-dollar coins, x +2 two-dollar coins and x+4
five-dollar coins. Given that the probability of drawing a one-dollar coin
randomly from the box is less than 0.1 .

If the box contains b coins, determine the value of b.
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There was a chest containing $8,000 buried in one of the corners of a square piece
of land. In a contest, you and another man called “Mr. Badluck” were digging for
the chest. Mr. Badluck had one peculiarity: he always made the wrong choice.
You won the toss and chose first. You picked a corner, and Mr. Badluck picked
another. Before you started, you observed that Mr. Badluck found no chest. The
rules of the game allowed you to make a switch to another corner, but with a
penalty of $200. Should you make a switch? Calculate the expected gain from
making the switch in dollars.
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Answers

1982 Final 12.4] 1984 FI3.3 1994 FG6.3
X | 1985 FSI3 | 1986 FI5.1 ;
- - 2 36 2
5 2 7

2010 FGS.3 2024 FG3.3
1999 FG4.4 | 2019 FG1.2 | should switch

3 3 6 $ —74300 =$ 2466%
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